Simple Proofs for
$$\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$$
 and
$$\sin x = x \prod_{k=1}^{\infty} \left(1 - \frac{x^2}{k^2 \pi^2}\right)$$

R. A. KORTRAM Katholieke Universiteit 6525 ED Nijmegen The Netherlands

Introduction Almost every textbook on complex analysis or on Fourier series contains a proof of Euler's identity

$$\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}.$$

Furthermore, there are countlessly many proofs of this result that do not rely explicitly upon complex function theory or Fourier analysis. In the references, we have listed some elementary proofs. Here we shall present a short and simple proof that uses only the definitions of π , sin, cos, and exp, and of course the notion of convergence. Moreover, our proof also gives Euler's identity

$$\sin x = x \prod_{k=1}^{\infty} \left(1 - \frac{x^2}{k^2 \pi^2} \right).$$

A trigonometric identity Let m and n be positive integers. It follows from the relation

$$\cos(k+1)x + \cos(k-1)x = 2\cos x \cdot \cos kx$$

that there exists a polynomial T_n of degree n such that for all $x \in \mathbb{R}$

$$\cos nx = T_n(\cos x)$$
.

In particular we have for positive integers k

$$\cos 2kx = T_k(\cos 2x) = T_k(1 - 2\sin^2 x).$$

This, together with the relation

$$\sin(2k+1)x - \sin(2k-1)x = 2\sin x \cdot \cos(2kx)$$
,

shows that there is a polynomial F_m of degree m such that for all $x \in \mathbb{R}$

$$\sin(2m+1)x = \sin x \cdot F_m(\sin^2 x).$$

Since $\sin(2m+1) \cdot k\pi/(2m+1) = 0$ for $k=1,2,\ldots,m$ we conclude that F_m has zeros at $\sin^2 k\pi/(2m+1)$, $k=1,2,\ldots,m$. These zeros are distinct, so F_m has no other zeros; thus

$$F_m(y) = F_m(0) \prod_{k=1}^m \left(1 - \frac{y}{\sin^2 \frac{k\pi}{2m+1}} \right),$$

and

$$F_m(0) = \lim_{x \to 0} \frac{\sin(2m+1)x}{\sin x} = 2m+1.$$

Therefore we have

$$\sin(2m+1)x = (2m+1)\sin x \prod_{k=1}^{m} \left(1 - \frac{\sin^2 x}{\sin^2 \frac{k\pi}{2m+1}}\right);$$

thus

$$\sin x = (2m+1)\sin \frac{x}{2m+1} \prod_{k=1}^{m} \left(1 - \frac{\sin^2 \frac{x}{2m+1}}{\sin^2 \frac{k\pi}{2m+1}} \right). \tag{1}$$

Comparison of sums and products For all real t we know that $e^t \ge 1 + t$. So if 1 + t > 0 we see that

$$e^{-t} = \frac{1}{e^t} \le \frac{1}{1+t}$$
.

Let u < 1. The choice t = u/(1-u) leads to

$$e^{-u/(1-u)} \le 1-u$$
.

For every collection of numbers $u_k \in [0, 1)$ we have

$$1 - \sum_{k} \frac{u_k}{1 - u_k} \le e^{-\sum_{k} u_k / (1 - u_k)} \le \prod_{k} (1 - u_k) \le e^{-\sum_{k} u_k} \le 1.$$
 (2)

If we have in addition $\sum_{k} u_{k} < 1$, then we even know that

$$e^{-\sum_k u_k} \le \frac{1}{1 + \sum_k u_k},$$

and consequently

$$\frac{\sum_{k} u_k}{1 + \sum_{k} u_k} \le 1 - \prod_{k} (1 - u_k) \le \sum_{k} \frac{u_k}{1 - u_k}.$$
 (3)

Proof that $\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$. Let m and N be positive integers, let m > N, and let

$$u_k = \left(\frac{\sin\frac{x}{2m+1}}{\sin\frac{k\pi}{2m+1}}\right)^2 \qquad k = 1, \dots, m.$$

Choose x so small that $0 < \sum_k u_k < 1$. It follows from (1) that

$$\prod_{k=1}^{m} (1 - u_k) = \frac{\sin x}{(2m+1)\sin \frac{x}{2m+1}},$$

and (3) implies that

$$\frac{\sum_{k} u_{k}}{1 + \sum_{k} u_{k}} \le 1 - \frac{\sin x}{(2m+1)\sin \frac{x}{2m+1}} \le \sum_{k} \frac{u_{k}}{1 - u_{k}}.$$

Divide by x^2 and let x go to zero. After a short computation we obtain:

$$\frac{1}{6}\left\{1 - \frac{1}{(2m+1)^2}\right\} = \sum_{k=1}^{m} \left(\frac{1}{(2m+1)\sin\frac{k\pi}{2m+1}}\right)^2,$$

and after a rearrangement

$$\left| \frac{1}{6} - \sum_{k=1}^{N} \left(\frac{1}{(2m+1)\sin\frac{k\pi}{2m+1}} \right)^2 \right| = \frac{1}{6(2m+1)^2} + \sum_{k=N+1}^{m} \left(\frac{1}{(2m+1)\sin\frac{k\pi}{2m+1}} \right)^2.$$

For $0 \le t \le \frac{\pi}{2}$ we have $\sin t \ge \frac{2}{\pi}t$, hence the right-hand side is less than

$$\frac{1}{6(2m+1)^2} + \sum_{k=N+1}^{m} \frac{1}{(2k)^2} \le \frac{1}{6(2m+1)^2} + \frac{1}{4N}.$$

Let $m \to \infty$; we arrive at

$$\left| \frac{1}{6} - \sum_{k=1}^{N} \frac{1}{k^2 \pi^2} \right| \le \frac{1}{4N},$$

and this shows that $\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$.

Proof that $\sin x = x \prod_{k=1}^{\infty} (1 - x^2/k^2\pi^2)$. We choose m, N and u_k as in the previous section, but now we take x such that $|x| < \frac{1}{4}N\pi$, and such that $\frac{x}{\pi} \notin \mathbb{Z}$. Again (1) implies that

$$\frac{\sin x}{(2m+1)\sin\frac{x}{2m+1}\prod_{k=1}^{N}(1-u_k)} = \prod_{k=N+1}^{m}(1-u_k),$$

thus we obtain from (2)

$$1 - \sum_{k=N+1}^{m} \frac{u_k}{1 - u_k} \le \frac{\sin x}{(2m+1)\sin \frac{x}{2m+1} \prod_{k=1}^{N} (1 - u_k)} \le 1.$$
 (4)

Using again that $\sin t \ge \frac{2}{\pi}t$ for $0 \le t \le \frac{\pi}{2}$ we see that

$$u_k \le \left(\frac{(2m+1)\sin\frac{x}{2m+1}}{2k}\right)^2 \le \left(\frac{x}{2k}\right)^2;$$

thus

$$\frac{u_k}{1 - u_k} \le \frac{x^2}{(2k)^2 - x^2} (k > N).$$

Hence

$$\sum_{k=N+1}^{m} \frac{u_k}{1 - u_k} \le \frac{x^2}{2N - |x|}.$$

Thus it follows from (4) that

$$1 - \frac{x^2}{2N - |x|} \le \frac{\sin x}{(2m+1)\sin \frac{x}{2m+1} \prod_{k=1}^{N} (1 - u_k)} \le 1.$$

Let $m \to \infty$. Then

$$1 - \frac{x^2}{2N - |x|} \le \frac{\sin x}{x \prod_{k=1}^{N} \left(1 - \frac{x^2}{k^2 \pi^2}\right)} \le 1.$$

Now let $N \to \infty$ and we obtain for $\frac{x}{\pi} \notin \mathbb{Z}$

$$\sin x = x \prod_{k=1}^{\infty} \left(1 - \frac{x^2}{k^2 \pi^2} \right).$$

For $\frac{x}{\pi} \in \mathbb{Z}$ this is of course also true.

REFERENCES

- Tom M. Apostol, A proof that Euler missed: evaluating ζ(2) the easy way, The Mathematical Intelligencer 5:3 (1983), 59-60.
- 2. Boo Rim Choe, An elementary proof of $\sum_{n=1}^{\infty} \frac{1}{n^2} = \frac{\pi^2}{6}$, Amer. Math. Monthly 94 (1987), 662–663.
- 3. D. P. Giesy, Still another elementary proof that $\sum \frac{1}{k^2} = \frac{\pi^2}{6}$, this MAGAZINE 45 (1972), 148–149.
- 4. F. Holme, Ein enkel beregning av $\sum_{k=1}^{\infty} \frac{1}{k^2}$, Nordisk Mat. Tidskr. 18 (1970), 91–92, 120.
- 5. G. Kimble, Euler's other proof, this MAGAZINE 60 (1987), 282.
- 6. K. Knopp, I. Schur, Über die Herleitung der Gleichung $\sum_{n=1}^{\infty} \frac{1}{n^2} = \frac{\pi^2}{6}$, Archiv der Mathematik and Physik (3), 27 (1918), 174–176. See also I. Schur, Gesammelte Abhandelungen II, Springer-Verlag, New York, 1973, pp. 246–248.
- 7. Y. Matsuoka, An elementary proof of the formula $\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$, Amer. Math. Monthly 68 (1961), 486-487.
- 8. I. Papadimitriou, A simple proof of the formula $\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$, Amer. Math. Monthly 80 (1973), 424-425.
- 9. E. L. Stark, Another proof of the formula $\sum_{k=1}^{\infty} \frac{1}{k^2} = \frac{\pi^2}{6}$, Amer. Math. Monthly 76 (1969), 552-553.
- 10. E. L. Stark, $1 \frac{1}{4} + \frac{1}{9} \frac{1}{16} + \cdots = \frac{\pi^2}{12}$, Praxis Math. 12 (1970), 1-3.
- A. M. Yaglom and I. M. Yaglom, Challenging Mathematical Problems with Elementary Solutions II problem 145, San Francisco, CA, 1967.